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££ All questions are compulsory.

££ Read the instructions on the ANSWER SHEET and fill in your NAME, CLASS and OTHER 
INFORMATION.

££ To mark your choice of answer by darkening the circles in the Answer Sheet,  
use an HB Pencil only.

££ You MUST record your answers on the ANSWER SHEET only.

££ There are 30 MULTIPLE CHOICE QUESTIONS. Each question carries one mark. 
Use the information provided to choose the BEST answer among the four possible 
options. On your ANSWER SHEET fill in the circle that matches your answer.

££ Marks are NOT deducted for incorrect answers.

££ Return the Answer sheet to the invigilator at the end of the examination.

££ You are NOT allowed to use a calculator. You may use a ruler and spare paper for 
rough work.

DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO

Total Questions: 30 Time: 1 hourTotal Marks: 30
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This question paper contains a total of 30 questions divided into three sections – A, B and C. 

Section A (Logical Reasoning)

	 1.	 Find the item from the options that will replace the question mark to continue the series.

			 
?

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 2.	 Select the option to replace the question mark to establish the analogy (similarity).

			      :     : :    :  ?
	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 3.	 What will come next in the given series?

			   J, L, N, P, ?
	 (A)	 I	 (B)	 Q

	 (C)	 R	 (D)	 S

	 4.	 Select the option to replace the question mark to establish the analogy.

			   June : July : : September : ?
	 (A)	 August	 (B)	 May

	 (C)	 October	 (D)	 November
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	 5.	 Out of the four items, three are alike in some manner and one is different. Choose the 

odd one out.

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 6.	 If all the letters of the English alphabet are written in reverse order from left to right, 

then which letter will be 9th from the left end?

	 (A)	 S	 (B)	 R

	 (C)	 P	 (D)	 Q

	 7.	 Out of the four items, three are alike in some manner and one is different. Choose the 

odd one out.

	 (A)	 January	 (B)	 February

	 (C)	 March	 (D)	 May

	 8.	 Select the option to replace the question mark to establish the analogy.

			   Duck : Quack : : Cow : ?

	 (A)	 Howl	 (B)	 Moo

	 (C)	 Bark	 (D)	 Chirp

	 9.	 Out of the four items, three are alike in some manner and one is different. Choose the 

odd one out.

	 (A)	 Football	 (B)	 Basketball

	 (C)	 Chess	 (D)	 Lawn Tennis          
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10.	 Consider the series given below and choose the correct option that will replace the 
question mark.

			 

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	11.	 Select the option that would fit in the blank space (marked by a 
question mark ‘?’) to complete the pattern.

	 (A)	 	 (B)	 	

	 (C)	 	 (D)	

	12.	 If Riya is older than Rehan, and Rehan is older than Raman, then who is the youngest 
among all?

	 (A)	 Rehan	 (B)	 Either Riya or Raman

	 (C)	 Raman	 (D)	 Either Rehan or Raman

	13.	 A few letters are arranged in a row, as shown below:

			   M A T H E M A T I C S

		  Which is the 7th letter from the right end?

	 (A)	 E	 (B)	 A

	 (C)	 M	 (D)	 H

	14.	 In a certain code language, if Cat = 3 and Dog = 4, then Elephant = ?

	 (A)	 8	 (B)	 5

	 (C)	 7	 (D)	 9

?
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	15.	 Select the option that would fit in the blank space (marked by a 
question mark ‘?’) to complete the pattern.

	 (A)	 	 (B)	

	 (C)	 	 (D)	

Directions (16 – 17): The following picture compares the weights of some toys. Answer the 
questions based on this picture:

			      

			      

	16.	 Which item is the second heaviest?

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	17.	 Which item is the lightest?

	 (A)	 	 (B)	

	 (C)	 	 (D)	

?
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	18.	 Which two figures can be joined to form a single square?

			 
P

   Q    R

			 

S

    
T

   
U

	 (A)	 P and T	 (B)	 Q and S

	 (C)	 U and R	 (D)	 R and S

19.	 Identify the figure that can be joined to the given figure (X), to obtain a 
square.

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	20.	 In a certain code language, if LAPTOP is written as PTOPLA and MOBILE is written as 
BILEMO, then how will CAMERA be written?

	 (A)	 MERACA	 (B)	 ERACAM

	 (C)	 RACAME	 (D)	 MECARA

Section B (Quantitative Aptitude)

	21.	 Amit went to the market and bought some fruits. He bought 2 kilograms 500 grams of 
bananas and 1 kilogram 300 grams of apples. What is the total weight of the fruits Amit 
bought?

	 (A)	 3 kg 800 g	 (B)	 3 kg 500 g

	 (C)	 4 kg	 (D)	 3 kg 900 g

	22.	 How many triangles are there in the following figure?
	 (A)	 6

	 (B)	 2

	 (C)	 3

	 (D)	 8

(X)
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	23.	 Which of the following is the sum of 2 m 32 cm and 12 m 45 cm?
	 (A)	 14 m  47 cm	 (B)	 14 m 77 cm

	 (C)	 1477 m	 (D)	 1377 cm

	24.	 Given below is a row of six numbers. 

			   23 32 10 14 24 29 

		  What is the position of the 3rd greatest number? 
	 (A)	 Second from the left end	 (B)	 Third from the right end

	 (C)	 Second from the right end	 (D)	 Fourth from the left end 

	25.	 Select the option that would fit in the blank space.

			   84, 86, 88, __ , __ , __ 
	 (A)	 89, 90, 91	 (B)	 90, 91, 93

	 (C)	 90, 92, 94	  (D)	 90, 94, 96

Section C (Competency Enhancement)

	26.	 Select the option to replace the question mark to establish the analogy.

			   289 : 416 :: 516 : ? 
	 (A)	 389	 (B)	 316

	 (C)	 643	 (D)	 628

	27.	 “In a certain code language, the word ‘pen’ is called ‘cup’, ‘cup’ is called ‘bat’, ‘bat’ is 
called ‘book’, and ‘book’ is called ‘chair’. According to this code language, what is used 
to play cricket?”

	 (A)	 Chair	 (B)	 Book

	 (C)	 Cup	 (D)	 Bat

	28.	 What are the missing alphabets?
	 (A)	 O, P, Q

	 (B)	 O, Q, P

	 (C)	 P, Q, R

	 (D)	 N, P, Q

M

? O

N

O

R ?

P
P

S R

QN

Q P

?
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	29.	 Manjari planted saplings in a row in her garden. She planted a Neem sapling at the 3rd 
position from the left and a Mango sapling at the 10th position from the left. How many 
saplings did she plant between the Neem and the Mango saplings?

	 (A)	 6	 (B)	 7

	 (C)	 8	 (D)	 5

	30.	 Lisa is making fruit punch for a party. She uses a punch bowl that can hold 5 L 400 mL 
of liquid. If she already poured 1 L 176 mL of fruit punch into the bowl, how much more 
punch does she need to add to fill the bowl?

	 (A)	 4 L 224 mL	 (B)	 6 L 576 mL

	 (C)	 4 L 576 mL	 (D)	 6 L 224 mL


